1165N  1165F




NR

ELEMENT

1165N

E1

RI965 i
2 RI165 200 1
E3 R1965 3N 1
E4 R1965 4N 1
ES R1165 5N 1
EG R1965 G 1




NR

ELEMENT

1165N

E7 s 1
ES s o 1
E9 s o 1
E10 | e 1
11 1
E12 | [omw 1




ELEMENT

1165N

149

R1100 2N

HOIOI0070-070 0 0 0 0%
RRHIRIXAHIHKKK
020200000202 %0 %000 %%

D

112 x 82

156 x 142




NR

ELEMENT

1165N

E19

£20 £/ |\

E21

E22

E23 -1

N'\' a
¢ o
" Bz,
\,‘
% o
Y
—
VRN
o
SN LI
N
S FERRC S
R
F 4"}‘ o




NR ELEMENT -
E25 1
F26 1
E27 % 1
Fog 1
E29 T T - 2
E30 2




1165N

NR ELEMENT

E31 1
ay ot

E32 6

F33 B 1
et

E34 =i 2
=

E35 |7 - 1

E36 1




1165N

NR ELEMENT
ca7
F38 U
E39 -
ca0




NR

ELEMENT

1165F

E1

R116% 1F5

E2

R1165 2F5

E3

R1165 3FD

E4

‘//////Rﬂﬂ@5 EF%

ES

R1165 BF5

EG

R1165 6F5




NR

ELEMENT

1165F

E7

R1165 7F5

ES

R1165 8F5

E9

R1165 9F5

E10

R1165 10F5

E11

/////JRﬂﬂ@ﬁ 11F5

E12

R1165 12F%




1165F

&S

>

[
Q

149cm

RRXXN.,

Q

e

@
2
0

SRQRIERRRRS

Q

0.0.0.0.0

O
83cm x 83cm

112cm x 82cm

RIS
o detetededetebe %
RRRERREKS
&R5REKREOK
RRRRRRRKS
QRRRRRRIRRS
ERRRKS
156¢cm x 142cm

&

%

Q

<

v2
v2
- v2

913
913
913

F11P_5_HP
F11P_3_HP

F11P_1_HP

NR ELEMENT

EF14 Lum@@ 2F

E13




NR

ELEMENT

1165F

E19

i

E21

I
(
E22
A
H=120cm

E23 DT

\'\ g
3 .

¢ X B

:

= :
~'~V | N
: p-L
Q W=
4 ¢

,{;;5.‘1‘;;2 B -

S\ % \' 887 : '

I 2 ‘ B -
Qg Sl
R0 ]




1165F

NR ELEMENT

E25

E26

07 %

E28

MH=210cm
E29a <] 111

E29b %\\l

E30




1165F

NR ELEMENT

E31 1
ay ot

E32 6

F33 B 1
et

E34 =i 2
=

E35 |7 - 1

E36 1




1165F

NR ELEMENT
ca7
F38 U
E39 -
ca0




0 1165N 1165F
Nr Element DIN ELEMENT z )2
4 DIN 125 10x20 16 16
10 DIN 9021 6x18 107 107
15 { ) ISO 7380 | M6x30 53 53
16 E g; - Ki_d21_B 107 107
L
17 ]D & i Z1_d21 B 107 107
18 DIN 985 M6 99 99
21 DIN 125 8x16 80 84
22 DIN 125 6x12 143 147
23 - M6x12 64 68
24 ISO 7380 | M6x16 24 28
25 ISO 7380 | M6x35 66 66
29 - |é__£">V_2A(21_0%%)_ 8 8
29 C R : ;
43 ((( DIN 1587 M8 8 8
45 [:ﬂ ISO 7380 | M8x30 4 4
51 —— ISO 7380 | M6x45 8 8
56 (:ﬂ 1SO 7380 | M10x30 8 8




=

1165N 1165F
Nr Element DIN ELEMENT )2 )2
57 ( DIN 1587 M10 8 8
58 % LOCTITE 1 1
61 KL105 50
84 [:ﬂ ISO 7380 M8x35 4 4
109 @) DIN 913 10x10 2 2
121 ﬂ / 19%0_—5:\’/*12— 2
139 = DIN7991 | M6x16 40 40
213 @ Z _NA_1 1 1
214 @ Z NA 2 1 1




